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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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G) gl @vel & @4t yeT AT & |
(i) FEF F97 & [HYIRT 37 399 a3 e 1@ & |

(iii)  F97 G&IT 1 - 4 77 13 - 16 371d THHIHE 97 &, 15770 J&% H7 1 376 & |
59T Yo &1 I Uk JTaFT H &7 39T 2 1

(iv) Io7 G&IT 5- 6 37K 17- 18 THIHE 97 8, 579 F9% & 3 375 & |
Jedh &1 I GIHTIT: 60 Isq] & 37fer 787 17 =iy |

(v) T G T7T-9 3R 19-21 Y TLHRIHE J97 8, 579 5390% & 4 375 & |
I HT IR GIHI=IT: 70 Jed] @ 371 a1 5147 =1fzy |

(i) ¥ &I 10-12 3K 22 - 24 I F0cAS 597 &, 577 9% & 6 3%
g | I9% H7 I/ GIEI=Id: 100 Jisg] & 37fes 787 5147 T1150 |

(vii) I GITT TIT TIICHF &7 TNET T IIEYT FT &1 T Joq T & Jaild
&7 2w s =Frfae |

General Instructions :
(1) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ - 6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
(MICROECONOMICS)

1. 3¢ o%q X 1 gl 6 AEn | wlaerd qftEad, s&q X 6 hivd § gy ufed

giEd | A4k §, @ IMMYfd i hHd A T U BT
(T faehed 1 <=4 L) 1
(%) E,=1

(@) E.<1

(M) E.=0

(&) E.>1

If the percentage change in quantity supplied of commodity X is more
than the percentage change in price of the commodity X, the coefficient

of price elasticity of supply would be : (Choose the
correct alternative)

(a) E =1

b)) E ;<1

(c) E =0

(d E,>1

2. 3fe foreft a%g i 4 SIS o IcdTed W Hd R AFIa T 60 AT 7, a1 39

& h1 5 3HEAT & TTT Pa R @rra gt | (T wom &
qfd ) 1

AUAT
Rl AN o hls <l 3280 9qTsy | 1
If the average fixed cost of producing 4 units of output is ¥ 60, then the
value of total fixed cost for producing 5 units will be . (Fill
up the blank)

OR

State any two examples of variable cost.
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3. 3cdted qwredl sk (N.LHE) 38 St # ya-fag o Fdit g, Al diwia
FATE AT : (TE forehey &1 == )

(%) el g3 @
(@) wredl g
@ A
(%)

SRUTTcH &l

R9)

HAAAT

fow 7w fo o Xy, Y, 9 Xy, Yo T HIcqieh AAAGwA % q (9 qeehral,
IR 1 TAT THIRIA 2 hl IcATe HHIEAT HIHTE Tegd d & | A; A1 A,
THIHTA 1 AT FHIRIA 2 H SHHRI: Tl 3ca1ed T&qd i @ | Py a1 Py,
THIHTA 1 qAT THIHTA 2 H HA: Hwifad Ieared hl AT Tqd H | |

a9q Y
Yol
P
\\@\\2
Y]_ o

0 I X

\
\
\
\
1
|
X; Xy

qEl wHE ARl o e e a1 wd fefafed feegatt & o=
T O AT 1 Tohal 8§ : (TE foehed &1 =91 )

(%) P,;EP,

(@) AHA,
(M AEP
(|) A, 8P,
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A production possibility curve (PPC) would be concave to the origin if
marginal opportunity cost is : (Choose the correct alternative)

(a) Increasing

(b)  Decreasing

(c) Constant

(d) Negative

OR

In the given figure X, Y, and X,, Y, are production possibility frontiers
for a hypothetical economy in two different time periods,
Period 1 and Period 2. A; and A,, represent actual outputs in Period 1

and Period 2 respectively. P; and P,, represent potential outputs in
Period 1 and Period 2 respectively.

! Good X
O Xl X2

The economic growth over the two periods would be represented by
movement from : (Choose the correct alternative)

(a) P;toP,
(b) AjtoA,
() AytoPy
(d) AytoPy

1581312 5 P.T.0.



P ExE
£

ITA-Fid THad § HH 3cg Ik hi AT &9 I B @
(T faehed 1 <=4 L) 1

%) U AR & b h

W) 3¢ U IMHR o dO5h &
M) 3 S AR % q5h b
H) ‘S 3MMHR o T b

(
(
(
(

The marginal product curve in the input-output plane, looks like
: (Choose the correct alternative)

(a) a ‘U shaped curve
(b)  an inverse ‘U’ shaped curve
(c) an inverse ‘S’ shaped curve

(d) an ‘S’ shaped curve

5.  “H8 3cured foran Su” <hl b HHEAT Sl H&Y H EHATSU | 3
Explain briefly the central problem of “How to produce”.

6. UH foomeficl 3UMIh shadt g a&qell, 9% X 9 9% Y 1 YN Hl g,
ehl I SHH: T 49 T 58 | IGEH A Hifgeh 3T T 407 | § T8 T
% IR W f=fafea g & 3w i 1,2
(%) IUYRAT & F91¢ 1@T THHRT HT Ieai@ HIT |
(@) e T@r 6 gqurdn F2a gt 2
Jrerar
U fqaehsiiel IUMRT hadt g aegatl, a&q X  a%g Y sl U9 &t 8, I
MU
e i T [“@U< Pyjaﬁq&@ﬁﬁ%ﬁmﬁa@mmm
X y
& foTu 3Hes guTfad s¥e8r «qrsu | 3

A rational consumer is consuming only two goods, Good X and Good Y
with ¥ 4 and ¥ 5 as their respective prices. Her total money income is

T 40. Answer the following questions, based on the given information :

(a)  State the consumer’s budget line equation.
(b)  What would be the slope of the budget line ?

OR
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If a rational consumer is consuming only two Goods X and Y, state her
likely behaviour to attain consumer’s equilibrium if she faces a situation

MU MU
where X < Y.
P P
X y

7. @ 18 fafafed SgEE o SMYR W, Farsy Tk 3Icured @i fhd AR W BH

god § grft 9 ol | 4
AT shiHd el AN

(sprsmid) | (X H) X )
0 15 10
1 15 30
2 15 45
3 15 55
4 15 70
5 15 95
6 15 140

Given the following schedule, state at which level of output, will the firm
be at equilibrium and why.

Quantity Price Total Cost
(in units) (in X) (in T)

0 15 10

1 15 30

2 15 45

3 15 55

4 15 70

5 15 95

6 15 140
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e foreft ag <l hma o 10% hg o TROTHEEET 39 &g 61 AT 40 65 9
T2 B 30 THE @ I 7, I&G hl AN hl AT A= b U6 hl ITUET
ST | 7T T hiFd A= ohl Thfd T el i |

HAAT

1Y UGEU % &R H gig 1 “arg WMeshi” (Air Purifiers) i SR T T IS4
A JUTE T SRS HIFT | (X@TR T T HIf)

If the price of a commodity rises by 10% and its quantity demanded falls
from 40 units to 30 units, calculate coefficient of price elasticity of

demand. Comment on the nature of price elasticity of demand.

OR

Explain the effect of the increase in the level of air pollution, on the
market demand for “Air Purifiers”. (Use diagram)

Fie:  HEliiga FeT daa gieEnad ghemdal & o, 397 a&7r 8 (fawey) &
T RE :

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 8 (Alternative) :

WW%W'&Q@W‘W IMEhi” (Air Purifiers) 3l STHR AT T 984
Tl THTE <l SATEAT HifT |

Explain the effect of the increase in the level of air pollution, on the
market demand for “Air Purifiers”.

9. ‘TrAan fgifd $Ma’ & 39 F1 T § ? UYH I HI T Hd §Y
ST FHIT |

EREN
T frufftd hHd’ | 9 91 FHHA & ? 3G 3G Hl TN Hd FL
ST FHIT |

What is meant by ‘Price Floor’ ? Explain using a suitable example.
OR

What is meant by ‘Price Ceiling’ ? Explain using a suitable example.

581372 8



10. ‘999 & H2d Uded’ ¥ A AT B 2 WUF % "ed Uldwd & TRl o
RO bl == I | 6

What is meant by diminishing returns to a factor ? Discuss any two
reasons behind diminishing returns to a factor.

11. (%) “Him o & o o1 3NEd 3 (AR) o BT & |7 1 A9 39 $AF 9
TEAT & ? 379 I o FHA H, HRUT 4 §C HEY F == HIFC |

(@) freh g 1 a9 @qem 6 feufa o 2 | awg i emafd & 3fg & st

? Safeh a%g I AT H I3 qREdd T8l sl | 9T ShiHd adT 9 6

T YT § 9S4 It IHTE shl ==t shifolg | 3,3
HAAAT
TehTTeh T JfaRIft TR €9 61 < Jq@ foemyarsti &1 foewor e | 6
(a) “Demand curve is the Average Revenue (AR) curve of a firm.” Do

you agree ? Discuss briefly, with reason in support of your answer.

(b)  The market for a commodity is in equilibrium. The supply of the
commodity increases without any corresponding change in the
demand for the commodity. Discuss the impact of the change on
the equilibrium price and equilibrium quantity.

OR

Elaborate three main features of a monopolistic competitive form of

market.

12. (@A H TN S gL, SHUEH 9% i fefaried fowmwaret & &g o
<=l I : 3,3
(%) HA-fog I IR ITA T
(@) ¢ & g i i IR T T
Discuss briefly the following properties of an indifference curve, using
diagram :
(a)  Convexity to origin
(b)  Downward sloping from left to right

1581312 9 P.T.0.
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Fig :  FHECTRIT 997 FIT IRt ghgnteen & 1o7g, 97 &1 12 & T W& -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

AT sk ot Ffefaa famivareti < wam @ ==t il 3,3
(%) H-fag h1 3R 3T I
(@) ¢ H g i H IR T T

Discuss briefly the following properties of an indifference curve :
(a)  Convexity to origin
(b)  Downward sloping from left to right

@ us o
(vmfte srefvme)
SECTION B
(MACROECONOMICS)
13. ‘Sz SUSY ki STaurun shi g ST | 1

Define the term “Involuntary Unemployment”.

14. YR fgE % g Ut faid & S8R, Sudh $hiHd @i (CPI) &
YR T 30 I8 hiAd ghg i X Usat a¥ AT 8% S o1 § 5% & ST |
frafafiad § & H-81 HYe 39 gifedfd s Teqd &l 8 ? 1
(%) CPIH i
(@) Tusd a9 6l g | 39 a8 CPI i gfg A &I 7
()  CPI= f&R &

(F) 39w § A B off T

According to a report forwarded by the Reserve Bank of India, there was
a fall in rate of inflation as measured by Consumer Price Index (CPI) on
year-on-year basis to 5% from 8% in the previous year. Which of the
following statements represents the situation ?

(a)  CPI has fallen

(b)  CPI has risen at a rate lower than the preceding year

(c) CPI is constant

(d)  None of the above

15,  refedaee # Teedi g faceft fafw= it @i & 15 <1 |ia sarse | 1

Name any two sources of demand for foreign exchange by households in

an economy.

581372 10
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16. Torelt Srefeuazen o AW dqeH | TR Tl i aRaTa HifT | 1
HAYAT
fopelt arefegertan & YA Hqed § HHSH werl sl aRuTia i | 1
Define autonomous transactions in Balance of Payments of an economy.
OR

Define accommodating transactions in Balance of Payments of an economy.

17. 3fe duid s=a 99 10% 2 o 3@ % @t @l W gue & R, q9n e
UM T 200 HUS 8, A < TS hledi-eh IAGEAT & IYNUNTT HeAd bl ToHT
SHIfTT | 3

If marginal propensity to save is 10% and is constant at all levels of
income, and the autonomous consumption is ¥ 200 crores, construct

consumption function of the given hypothetical economy.

18.  ifam a&qel Ud Hedad! awqei H TR TIe IR | ITRH IgTeL0T I | 3
Tt
Ife foreft st 4§, TR W g w e foeefaa TR S B, 39 ues i

T, TehTUcHe a7 OMcHeh STEIATE BT | 39 GFI TehR <hl STEIATSTT kT 10T
Higd Teh-Teh ISTEWT T | 3

Distinguish between final goods and intermediate goods. Give suitable

examples.

OR

If in a locality, a new park is developed by the municipal corporation, it
will have externalities, both positive and negative. State one example
each of both types of externalities with reason.

19. 39FH @I 1 TN B gY FHIfGRl Aaua H feafd wee i |
ThHIfeRi 3Tatet o THTEH o ol ig g TSThIN T U ST | 2,2

Show inflationary gap using a well labelled diagram. Suggest any two
fiscal measures to correct the situation of inflationary gap.

1581312 11 P.T.0.
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e :  [AElIEd 3T FIT FRETAT qhenteen & 077, F97 &I 19 & T WE -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 19 :

THIfdRRl 3TdU T T dIc9d & 2 Thifdehi] 3TaUd o HIYM & T his @l

TSRS 39T 13T | 2,2

What is meant by inflationary gap ? Suggest any two fiscal measures to

correct the situation of inflationary gap.

20. warse fp Fafafea § @ wH-a1 woF @8 AYA 77T B | IUTH HRUT
AT | 2,2
(%) 6 % TR Tagia & IFER, T s=a d Jored a=d Jed aust
B 8 |
(@) q-gFeh feTawe ¥ Ifg 3T I 7, a3 oft 3= 8hm |

State which of the following statements are true or false. Give valid
reasons.

(a)  According to Keynesian theory of employment, Ex-Ante savings
and Expost savings are always equal.

(b)  In a two-sector economy if income is zero, consumption will also
be zero.

21. T % THI H ARAR TG (T) S SeR ($) o Gohad 3104 T f=ret
T W I T AT | A STAT 9§ TS ot JWTe shl == shifa | 4

HAAT

“Smar T 6t feafa # T T 1 YW Hqed aTe] @ # faie i fefa
H TE B Gt |” 1 A9 39 feU U e ¥ HEHd & 2 Sl "igd ==l

i | 4
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In recent times the Indian Rupee () depreciated to an all time low

against the US dollar ($). Discuss its impact on India’s Imports.

OR

“A country with trade deficit cannot have current account surplus in its
Balance of Payments.” Do you agree with the given statement ? Discuss

with reason.

22. feu mu fy=ffea Sifel o YR W, ‘TareH IREW qu Fod we] It

frafor’ % qer sma i 6
%. 9. | oo (magi )
i | E STl 3T o 2,000
i | =t < fufia e 1,500
TAEREL 12,000
v | T9Cw § ar fee | o 200
v | T AR 9
vi |[™ 500
vii | TS STfqm SauT s 6,000
viii | O ST 700
ix | e i 1,800
x | RO ST 600
xi | Fdt = ot ?
xii | TG o o 6,000
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Given the following data, find the values of ‘Operating Surplus’ and
‘Gross Domestic Capital Formation’ :

Amount

S.No. | Particulars (in T Crores )

Government Final Consumption

! Expenditure 2,000
ii Mixed Income of Self-Employed 1,500
1i1 National Income 12,000
iv Net Factor Income from Abroad 200
v Operating Surplus ?
vi Profits 500
vii 21);1;:11;3 iflilr;:l Consumption 6,000
viii | Net Indirect Taxes 700
ix Net Exports 1,800
X Consumption of Fixed Capital 600
X1 Gross Domestic Capital Formation ?
xii Wages and Salaries 6,000

23. (%) TR H TG Wiead 9 Yo wieadi § fawg Hif |

(@) “Tafvaer’ qun Taesm & 9Ted For ol R TR Hl T TTieqai § et
7T 8 2 IO Sqrsy | 4,2

AT
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feu U fafafaa stienst @ () Tod =12, 9 (ii) TSThIYI ©1¢ o HH <hl M1
shifsra

%. 9. | foero @a@ )
1 | =t 3mm 1,000
2 | R I 150
3 | WehR g e 780
4 | fafiew witaat 50
5 | T o 1,500
6 | dSiia = 480

(a)  Distinguish between revenue receipts and capital receipts of the
government.

(b) Do ‘disinvestment’ and ‘loan proceeds from abroad’ constitute
revenue receipts of the government ? Give reason.

OR
Given the following data estimate the values of (i) Revenue deficit, and
(i1) Fiscal deficit :
S.No. | Particulars (inA;n 81;(1)1:%)
1 Tax Revenue 1,000
2 Non-Tax Revenue 150
3 Net Borrowings by Government 780
4 Disinvestment Proceeds 50
5 Revenue Expenditure 1,500
6 Capital Expenditure 480

24, TH HIcd-h TEITHS IGTE GHI TS seh GRT Hgl T i Ffshal <hl
e HIT |

Explain the process of money creation by a commercial bank using a
hypothetical numerical example.
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